

STORM WATER MANAGEMENT BRIEF

FOR

15867 AIRPORT ROAD

CALEDON, ONTARIO

DECEMBER 6, 2023

Prepared by:

Jain

Jain Infrastructure Consultants Ltd. 7405 East Danbro Crescent, 2nd Floor Mississauga, Ontario

L5N 6P8 , Canada Tel: (905) 285-9900 Fax: (905) 567-5246

Table of Contents

1.	INTRODU	JCTION	3
2.	EXISTING	G SITE CONDITIONS AND TOPOGRAPHY	3
3.	PROPOSE	ED DEVELOPMENT	3
4.	EXISTING	G SITE SERVICES	4
5.	STORM W	VATER MANAGEMENT CRITERIA AND METHODOLOGY	4
4	5.1 QUA	ANTITY CONTROL	4
	5.1.1	PRE AND POST DEVELOPMENT COEFFICIENTS	4
	5.1.2	PRE & POST DEVELOPMENT FLOW CALCULATIONS & ONSITE STORAGE	4
	5.1.3	INFILTRATION TRENCH	5
4	5.2 MIN	JOR STORM DRAINAGE	5
-	5.3 MA.	JOR SYSTEM DRAINAGE	5
6	EROSION	AND SEDIMENT CONTROL	5
7	CONCLU	SIONS	6
8	APENDIC	CES	7

1. INTRODUCTION

lair

The purpose of this report is to present the storm water management, storm drainage and appropriate measures to mitigate the impact of runoff with the proposed development.

The subject site is located on east side of Airport Road, between Larry Street & Marion Street in the Town of Caledon as shown in Figure 1.



Figure 1 - Site Location Plan

2. EXISTING SITE CONDITIONS AND TOPOGRAPHY

The existing lot contains a single dwelling residential unit. A legal and topographic survey has been prepared by ALTIMAP LAND SURVEYORS INC. dated February 09, 2021, which identifies the site as PIN 14335-0046 (LT) PART OF LOT 20, CONCESSION 1 ALBION, Town of Caledon, Regional Municipality of Peel.

3. PROPOSED DEVELOPMENT

The owner intends to convert the residential unit into a day care centre by repurposing the existing building. An additional open play area is being proposed in the backyard. Moreover, the front driveway is proposed to be widened to accommodate 7 parking spaces. The proposed pavement grades match the existing drainage pattern. Proposed site servicing, grading and erosion control plans are submitted separately as full-size drawings with this report.

4. EXISTING SITE SERVICES

Existing record drawings show that stormwater, sanitary & watermain networks are available along the airport road in front of the project site. The Proposed development shall be re-using the existing connections for stormwater, sanitary and water. The details of existing site services are shown in drawing C101.

5. <u>STORM WATER MANAGEMENT CRITERIA AND METHODOLOGY</u>

The following SWM criteria is applicable for the site;

Quantity Control

The quantity control is pre to post development flows for all storms (2,5,10,25,50 & 100) year.

Erosion and Sediment Control

Adequate measures are to be implemented to minimize the transportation of sediments out of the construction area.

5.1 <u>QUANTITY CONTROL</u>

Catchment area "A1" (0.19 ha) contains builing, parking and landscape areas.

The pre and post development land use with drainage catchment is shown in Figure DR1 and DR2, Appendix A.

5.1.1 PRE AND POST DEVELOPMENT COEFFICIENTS

The Pre and post development land use and runoff coefficients are calculated as shown in Table B1 & B2, Appendix B and summarized below in Table-1.

Proposed Land Use	A, Area (hectares)	R, Runoff Coefficient
Pre-Development Conditions	0.19	0.48
Post-Development Conditions	0.19	0.55

Table 1- PRE & POST DEVELOPMENT LAND USE & RUNOFF COEFFICIENT

5.1.2 PRE & POST DEVELOPMENT FLOW CALCULATIONS & ONSITE STORAGE

The Rainfall intensities shall be calculated in accordance with City of Caledon IDF curves. The "Modified Rational Method" is used to estimate flows from the drainage areas.

The pre and post development flows are calculated in Table B3 & B4, Appendix B respectively. The pre and post development flows with onsite storage requirements for 2-100 year storms are calculated and summarized in Table 2 below.

Return Period (yrs.)	Pre-Development (liters/sec)	Post-Development (liters/sec)	Storage Required (m ³)
2	22.1	25.3	1.81
5	28.3	32.4	2.32
10	34.6	39.6	2.84
25	40.3	46.2	3.31
50	45.4	52.0	3.73
100	50.6	58.0	4.16*

Table 2- PRE/POST DEVELOPMENT FLOWS & REQUIRED STORAGE

* Maximum Storage Required

The maximum onsite storage volume of 4.16m³ is required to control 100 year pre to post development flows.

5.1.3 INFILTRATION TRENCH

An infiltration trench with storage capacity of 4.20m³ is provided in the rear yard. Drawing C102, Appendix "C" shows the location and cross-sectional details of the proposed infilteration tench. The size of the infiltration trench is given below in Table-3.

Length	Width	Depth	Void Ratio	Storage
(m)	(m)	(m)	(%)	(m ³)
5.00	2.80	0.75	40	4.20

Table 3- INFILTRATION TRENCH SIZING

5.2 MINOR STORM DRAINAGE

The storm sewer network is proposed to convey the site drainage and connect to the existing catchbasin (Ex.CB2). The drawing C101 shows the existing and proposed site storm network. The existing catchbasin (Ex.CB2) is already connected to the city strom main along airport road.

5.3 MAJOR SYSTEM DRAINAGE

The overland flow will not affect the existing building since the grading of the site ensures storm flows greater than 100 years will be able to flow overland through the site. The overland flow arrows are shown on site grading drawing C102.

6 EROSION AND SEDIMENT CONTROL

An erosion and sediment control strategy will be implemented during the construction to mitigate the transportation of silt from the site. Drawing C103 shows silt fence and sediment control measures.

To prevent construction-generated sediments from entering the storm sewer or leaving the site by overland flow, the following measures should be implemented with regular inspection and maintenance.

Management of construction activities in a manner to minimize disturbed area and duration of soil

disturbance.

- Installation of drain inlet protection at each catch basin and storm manhole cover within the construction site and downstream of the construction access on the adjacent municipal road.
- Installation and maintenance of silt fences (OPSD 219.130 or equivalent) around the perimeter of any construction/disturbed areas.
- Periodically removal of sediments accumulated behind silt fences or sediment protection when 50% of its individual design capacity has been reached.
- Dust control measures should be followed during construction.
- Erosion and sediment control practices to be decommissioned after paving, landscaping or other stabilization measures and restoration of disturbed areas have been completed.

7 CONCLUSIONS

- Post development flows have been controlled to the predevelopment levels using infiltration trench as a storage for excess flow.
- The overland flow route through the site ensures that major overland flows are safely carried through the site towards Airport Road.
- The proposed development shall be using the existing service connections for stormwater, sanitary and watermain.
- Sediment and erosion control measures shall be implemented, such as the temporary silt fence and filter fabric at the existing catch basins.

We trust you will find this submission complete and in order. Should you have any questions, please contact the undersigned.

Respectfully Submitted, Jain Infrastructure Consultants Ltd.



Hoon K

RasheedAhmad ProjectDesigner December 06, 2023.

Appendix A Figures DR1 Pre Development Drainage Areas DR2 Post Development Drainage Areas



			RTH	A DESCRIPTION: SAL DESCRIPTION: T PLAN OF T OF LOT 20 CESSION 1 ALBION HE TOWN OF CALEDON SIONAL MUNICIPALITY OF PEEL) RMATION TAKEN FROM A SURVE MAP LAND SURVEYORS INC., FINCH AVE W, UNIT 212, TORONTO 290 3001 INFO@ALTIMAP.CA RING NOTE: RINGS ARE ASTRONOMIC AND AR THERLY LIMIT OF AIRPORT ROAD . VAN LANKVELD O.L.S. HAVING A 41'40"W. VATIONS NOTE: (ATIONS ATE ASTRONON ATE ATION (ATE ATE ATE ATE ATE ATE ATE ATE ATE ATE	Y PERFORMED BY D, ON M2R 1M6 TEL EREFERRED TO THE AS SHOWN ON PLAN BEARING OF CANADIAN GEODETIC ND ARE DERIVED RK No. 00819758057
DARY	K K K K K K K K K K K K K K K K K K K K	ASPHALT/BRICK DRIVEWAY			
TARES.		BUILDING			
FFICIENT		CONCRETE/WOOD DECK			
				REVISION	PROVAL SEP 27/23 DATE DATE DATE DATE DATE DATE DATE DATE



		TRUE NORTH	PARTOR Automation CONCESSION 1 ALBION SITE NTHE TOWN OF CALEDON CONCESSION 1 ALBION INFORMATION TAKEN FROM A SURVEY PERFORMED BY ALTIMAP LAND SURVEYORS INC., 222 FINCH AVE W, UNIT 212, TORONTO, ON M2R 1M6 TEL 416 990 3001 INFO@ALTIMAP.CA BEARING NOTE: BEARING NOTE: BEARING SOTE: BEARING SOTE: BELEVATIONS NOTE: ELEVATIONS NOTE: ELEVATIONS NOTE: ELEVATIONS NOTE:
K K K K K K K K K K K K K K K K K K K	ASPHALT/BRICK DRIVEWAY		VERTICAL DATUM (CGVD-1928:1978) AND ARE DERIVED FROM TOWN OF CALEDON BENCHMARK No. 00819758057 HAVING AN ELEVATION OF 251.929m.
Т	BUILDING		
	CONCRETE/WOOD DECK		PROFESSIONAL
			DEC 05,23 POVINCE OF ONTARIO 2023-556
			Image: REVISION
			JAIN INFRASTRUCTURE CONSULTANTS Ltd. 7405 EAST DANBRO CRESCENT MISSISSAUGA, ON L5N 6P8 TEL: (905) 285-9900, FAX: (905) 567-5246 Email: yayub@jainconsultants.com
			15867 AIRPORT ROAD, CALEDON, ON DRAWING TITLE POST DEVELOPMENT DEVELOPMENT DI ANI
			SCALE: (ARCH 36"x24") 1: 200 DATE: DEC 05-23 DRAWN BY: NP CHECKED BY: YA

Appendix B

B1 - Pre Development Land Use & Runoff Coefficients
 B2 - Post Development Land Use & Runoff Coefficients
 B3 - Pre Development Flows Calculations
 B4 - Post Development Flows Calculations
 B5 - Onsite Storage Calculations

Calculation Sheet: B1 PRE DEVELOPMENT RUNOFF COEFFICIENT

15867 Airport Road, Caledon, ON

Site Area (m ²)	1907.72
Site Area (Ha)	0.19
"c"	0.48

Land use	Area (m ²)	R	AxR
Landscape	1225.77	0.25	306.44
Concrete/Brick	34.30	0.90	30.87
Asphalt	243.52	0.90	219.17
Existing Building	284.84	0.90	256.35
Interlock	119.30	0.90	107.37
	1907.72	0.48	920.20

Calculation Sheet: B2 POST DEVELOPMENT RUNOFF COEFFICIENT

15867 Airport Road, Caledon, ON

Site Area (m ²)	1907.72
Site Area (Ha)	0.19
"c"	0.55

Land use	Area (m ²)	R	AxR
Landscape	919.17	0.25	229.79
Concrete/Brick	12.24	0.9	11.01
Asphalt	405.65	0.9	365.09
Existing Building	284.84	0.9	256.35
Interlock	122.80	0.9	110.52
Play Area	163.02	0.5	81.51
	1907.72	0.55	1054.28

Calculation Sheet: B3 PRE DEVELOPMENT FLOW CALCULATIONS

Project: 15867 Airport Road, Caledon, ON	
Project No.	23-570
Date:	2023-10-04

PRE DEVELOPMENT RUNOFF COFFICENT

AREA TYPE	AREA (M ²)	RUNOFF COEFFICIENT "R"	AREA x R
Landscape	1225.77	0.25	306.44
Concrete/Brick	34.30	0.90	30.87
Asphalt	243.52	0.90	219.17
Existing Building	284.84	0.90	256.35
Interlock	119.30	0.90	107.37
	1907.72	ΣAREA X R	920.20
	WEIG	HTED AVERAGE "R"	0.48

AREA "A" (Hectares) 0.19

Rational Method

TABLE B3.1 Intensity-Duration-Frequency Parameters, Caledon $i = A/(t+C)^{B}$

 $Q=0.0028CIA(m^{3}/sec)$

Where:

 $Q = Design Flow (m^3/sec)$

C = Site specific runoff coefficient

A = Contributing draingae Area (ha)

I = Rainfall intensity (mm/hr)

Return Period	А	В	с
2 year	1070	0.8759	7.85
5 year	1593	0.8789	11
10 year	2221	0.908	12
25 year	3158	0.9335	15
50 year	3886	0.9495	16
100 year	4688	0.9624	17

Return Period (Years)	2 -Years	5-Years	10 -Years	25 -Years	50 -Years	100-Years
T (mins)	10	10	10	10	10	10
l (mm/hr)	85.72	109.68	134.16	156.47	176.19	196.54
Q (m ³ /sec)	0.022	0.028	0.035	0.040	0.045	0.051
Q (I/sec)	22.1	28.3	34.6	40.3	45.4	50.6

Calculation Sheet: B4 POST DEVELOPMENT FLOW CALCULATIONS

Project:	15867 Airport Road, Caledon, ON		
Project No.	23-570		
Date:	2023-10-04		

POST DEVELOPMENT RUNOFF COFFICENT

AREA TYPE	AREA (M ²)	RUNOFF COEFFICIENT "R"	AREA x R	
Landscape	919.17	0.25	229.79	
Concrete/Brick	12.24	0.90	11.01	
Asphalt	405.65	0.90	365.09	
Existing Building	284.84	0.90	256.35	
Interlock	122.80	0.90	110.52	
Play Area	163.02	0.50	81.51	
	1907.72	ΣAREA X R	1054.28	
	WEIG	0.55		

AREA "A" (Hectares) 0.19

TABLE B3.1 Intensity-Duration-Frequency Parameters, Caledon $i = A/(t\!+\!C)^{B}$

Rational Method

Q=0.0028CIA(m^3 /sec) Where:

Q= Design Flow (m^3/sec)

C = Site specific runoff coefficient

A = Contributing draingae Area (ha)

I = Rainfall intensity (mm/hr)

Return Period	А	В	с
2 year	1070	0.8759	7.85
5 year	1593	0.8789	11
10 year	2221	0.908	12
25 year	3158	0.9335	15
50 year	3886	0.9495	16
100 year	4688	0.9624	17

Return						
Period	2 -Years 5-Years		10 -Years	25 -Years	50 -Years	100-Years
(Years)						
T (mins)	10	10	10	10	10	10
I (mm/hr)	85.72	109.68	134.16	156.47	176.19	196.54
$Q(m^{3}/sec)$	0.025	0.032	0.040	0.046	0.052	0.058
Q (l/sec)	25.3	32.4	39.6	46.2	52.0	58.0

On-Site Storage Calculator				Project:	15867 Airport Rd	
				Project No.:	23-570	
C	Caledon			By:	YA	
Т	able B5 - Complete	Site		Date:	04-Oct-23	
	*					
R =	0.55					
A =	0.19 ha	l				
$Q_{release} =$	0.051 m	³ /s				
	50.64 L/	s				
t _c	i ₁₀₀	Q ₁₀₀	Q _{stored}	Peak Volume		
(min)	(mm/hr)	(m ³ /s)	(m^3/s)	(m ³)		
10	196.536	0.058	0.007	4.156	***	
11	189.777	0.056	0.005	3.265		
12	183.475	0.054	0.003	2.233		
13	177.585	0.052	0.001	1.073		
14	172.068	0.050	-	-		
15	166.890	0.049	-	-		
16	162.020	0.047	-	-		
17	157.432	0.046	-	-		
18	153.100	0.045	-	-		
19	149.005	0.044	-	-		
20	145.128	0.043	-	-		
21	141.450	0.041	-	-		
22	137.958	0.040	-	-		
23	134.637	0.039	-	-		
24	131.475	0.039	-	-		
25	128.461	0.038	-	-		
26	125.585	0.037	-	-		
27	122.837	0.036	-	-		
28	120.209	0.035	-	-		
29	117.693	0.034	-	-		
30	115.282	0.034	-	-		
31	112.969	0.033	-	-		
32	110.750	0.032	-	-		
33	108.617	0.032	-	-		
34	106.567	0.031	-	-		
35	104.594	0.031	-	-		
36	102.694	0.030	-	-		
37	100.863	0.030	-	-		
38	99.097	0.029	-	-		
39	97.394	0.029	-	-		
40	95.749	0.028	-	-		
41	94.160	0.028	-	-		
42	92.623	0.027	-	-		
43	91.137	0.027	-	-		
44	89.699	0.026	-	-		
45	88.306	0.026	-	-		

Appendix C Drawings

Site Servicing Plan Site Grading Plan Erosion & Sediment Control Plan





